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1. Answer all questions.
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ENGLISH

Q.1 My friends ............ the prime minister
yesterday.(see)
(A) Saw (B) Sees
(C) Have Been (D) Are Seeing
Q.2 The lamp has ....... Out. (go)
(A) Gone (B) Going
(B) Went (C) Will Go
Q.3 The earth ............ round the sun.
(move)
(A) Will Move (B) Has Moved
(C) Moved (D) Moves

. Change into passive voice (Q.4 to Q.5)
Q.4 My mother was driving a car.

. \A) A Car Was Being Driven By My Mother.

(B) A Car Was Driven By My Mother.

(C) A Car Was Being Driven By My Mother.

(D) A Car Will Be Driven By Mother.
Q.5 She made a beautiful dog.

(A) A Beautiful Dog Was Made For Her.

(B) A Beautiful Dog Was Made By She.

(C) A Beautiful Dog Was Made By Her.

(D) A Beautiful Dog Is Made By Her.

Fill in the blank with suitable article (Q .6to
Q.10)

Q.6 ... SUN sets in the west.
(A) A (B) The
(C) An (D) None Of These :%
Q.7 Ramis ........ honest man. ~.__ o/
‘ (A) An (B) A pr
(C) The (D) None Of These
0.8 lsaw ... one eyes man yesterday.
(A) An (B) A
(B) The (D) None Of These
Q.9 ....... Fich should help ......... poor.
(A) A, The (B) The,The
(C) A, An (D) An, The
Q.10 Hindiis ....... easy language.
(A) An (B) A
(C) The (D) None Of These

Fill in the blanks with suitable preposition. (Q.11
to Q.15)

Q.11 Leaves are falling ......... the trees.
(A) From (B) Off

Q.12

Q.13

Q.14

Q.15

(C) By (D) Of

We are waiting ............ the bus.

(A) At (B) For

(C) By (D) Of

He ran away ......... with my money.
(A) With (B) From

(C) At (D) To

| go .... temple every day.

(A) At (B) To

(C) By (D) On

| was born .......... Shahdara ... Delhi.
(A)In, In (B) At, In

(C) At At (D) On, At

Choose correct canjunction (Q.16 to Q.18)

Q.16

| (A} This - (B) When

Q’:ﬁ

Q.22

Mohan is more intelligent ... sohan.
~(A) Than ~ (B) And
.{C) Then ¢ (C) But

.t"k_r_low .eeis NE IS @0 intelligent boy.

(C) That (D) And
H,ﬁﬁs*absent ........... he is sick.

.ffﬁ) Because (B) And

" (C) Therefore (D) So
Choose the correct opposite with suitable prefix
) Q.19 to Q.20)
Q.19 Active:
(A) Unactive (B) Inactive
(C) Deactive (D) None Of These
Q.20 Possible:
(A) Impossible (B) Unpossibe
(C) Possibility (D) None Of These
MATEMATICS
Q.21  Which of the following is true?
Frarferfrm ¥ & #ir o w0 3

(A) (-8)+(-4) > (-8) - (-4)

(B) (-8) +(-4) < (-8) - (-4)

(C) (-8) +(-4) = (-8) — (-4)

(D) none of these

On a number line, when we add a positive
integer, we

et ¥ T uw, 19 29 vF gaTeT
Ut ST= &, AT Ew
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he right 272 AT S Q.27 If you subtract 3 from 6 times alnumher,
S e 1hE' ri e AT ST you get 9. Write this statement in the
(B) move to the le S _
(C) do not move at all ﬁﬂgﬂ ferr ;?éﬁ;;ﬁ;;g;n % 6 AT # 7 3 7T
D) none of thsese A & d s LN s
Q.23 E& t))atsman scored the following number ar W? BAL ?T:;? A A
I of runs in six innings: 35, 30, 45, 65, 39, qHHTor F 9 H (79|
| 20. The mean runs scored by him in an (A)3X-6=9
' inning is (B)6X-3=9
J s AT 3 g i # Rt (C)6X+3=9
'I Ii”?lTﬁ’?W: 35, 30, 45, 65, 39, 20 (D)3X+6=9 .
o ‘ AT T Q.28 When the sum of the measures of two
' A eI angles is 90°% the angle are called.
:i;jg :E))i?; wﬁﬁﬁwﬁmﬂwso"%a‘rm,
Q.24 The marks of 11 students of a class are as EB‘;F!T?f ﬁ'l v/ 8 ' >
given below: 78, 11,99, 63, 94,6, 78, 36, : (A) supplementary angies qI7% if-'l"TT
30, 55, 22. The range of marks is (B) complementary angles T7F FTT
UF FT F 11 T F o 39 THE 8 78, (C) adjacent angles ST FI0T
q 11,99, 63, 94, 6, 78, 36, 30, 55, 22 T " (D)vertically opposite angles ferartfarga
(A) 90 (B) 91 o 91__—- which of the following pairs of angles is
() 92 (D) 93 §~ i ./ not complementary angles?
. Q.25 The marks of some students aré as given . rgrfrfira FI0i 1 I AT 49 TF A0
i below: Nl | B :ﬁﬁ %?
30, 31, 32, 33, 32, 34, 3%30, 31, (A) 60°, 30°
! Find the mode of thgi}‘f"rﬁﬁ?ks. (8) 66°, 34°

% FTAT F AF T WA

(D) 0°% 90°
33, 32, 34, 35, 30, 31, 33, 3:

(D) 160°, 30°

TgAF AT Fifom B Q.30 The angle in a linear pair are
(A) 30 (8)31 U e T | Ao 2 2
(C)32 (D) 3. (A) complementary T7F
Q.26 Write _th_.g‘i"f_gl‘l‘.owing statement in the form (B) supplementary ml-,—.,ﬁ
of.ay equaﬁg;n -~ (C) not adjacent angle.s AT FIT A5l
One fourth ofn,Plus 2 is equal to 3 3
S i /< R (D) vertically opposite angles forerifsiam
o 7 T TS, 2%“3%3’0‘3{% Q.31 If:cwo snc-ies of a triangle are not equal, the
o 4 trlangle is cal.led _ ke
(B)E+2=3 : #ﬁﬁﬂﬁﬁaﬁaﬁﬂﬁaﬁwaam
: Prest gemre &
(C)5—4=3 (A) Scalence faws &g
(D) 2 +4=3 (B) Isosceles #HfzaTE
' (C) Equilateral HHaTE
4 JGM GURUKULAM GTSE 071/A
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Q.32

Q.33

. Q34

o

L

Q.36
i- Q.37
1| .
J Q.38

(D) Right angled THATIT Q.39

How many medians can a triangle have?

(A) 1 (B) 2
(C) 3 (D) 4

The total measure of the angles of a Q.40
triangle is

e B ¥ FI0T AT FA 619 v 2
(A) 360"

(8) 90”

(c) 180°

(D) None of these 37 & FIs gl

The measure of each angle of an

Q.41

equilateral triangle is

T AHETE RS F 990F T F7 |/
(A) 30° (B) 45"
(C) 90° (D) 60°

Parimeter of rectangle of length l and b is
FATE | 7 b AT AT FT 9fiw &
(A)1+b (B) 2 x (I+b)
(C)3x(1+b) (D)Ixb P
Find the area of a square with g.lde 23 m.
20 H1=Z7 5T AT UF 79 W'W
EnERd
(A) 80 m* (C) 1s.o-m% -_
(C) 400 m* (D) none
The area of arectangular field is 250 m?. If
the breadth of the field is 10m. Then find
the length. ¥

T APTATEIT AATA &1 S %<l 250 a9
A2z 21 A2 fer 41 +vers 10 fev &) a9
(A) 25m

(C) 100m

' ‘:ﬁ%&

Q.43

Q.44

(B) 50m
(D) 125m

The area of a parallelogram of base 5 cm
and height 3.2 cm is.

AT 5 AT A7 TA7E 3.2 Fefy ATy
AHAT AT FT AT 3|

(b)12 cm?

(D) 20 cm?

Q.45

(A) 8Bcm?
(C) 16 cm?

The radius of a circle is 7 em. Its
circumference is

u# g 6 BT 7 398 &, seehy qffy 3
(A) 22 cm (B) 44 cm

(C) 11 cm (D) 66 cm

Find the area of a Right angle triangle
whose base is 10 cm and height is 14 cm.
o AHETT ST FT aorpat sy 4
ST ATYTT 10 T A F=TE 14 Waft 7
(A) 140 cm” () 70 cm’

(C) 10cm’ (D) 280 cm’

The cost of 3 envelopes is Rs. 15. Find the
cost of 5 evelopes.

3Fﬁrwﬁaﬁrﬁw?rr 15. 2 a1 s forerei

(A ) Rs. 20 (B) Rs. 25
a@g) Rs. 30 ° (D) Rs. 40

%otorcycle goes 120 km in 3 liter
petrdxf *How much petrol will be required
to go 600 km?

qaﬁmzv-srr{f%r—wr%ﬁwmtnzoﬁﬁ

=t 21 600 it ST ¥ For e T2

T2

(A) 10 liter

(B) 12 liter

(C) 15 liter

(D) 20 liter

The raito of Rs 10 to 50 paise is
10 %97 § 50 T 9% *T AT 2

(A) 20:1 (B) 10:1

(C) 5:1 (D) 1:20

The exponential form of 81 is

81 F1 HTATHIY &9

(A) 3°

(b)3*

(c) 3*

(D) none of these 37 H | F1$ d#l

The value of (-2)}

(-2 FT WA &

(A) 8 (B) -8

(C) 16 (D) -16
SCIENCE

Food making process in plants is called as
JGM GURUKULAM GTSE 071/A




e} 7 st a9 i wfEFEar zr.ﬁ’a‘l‘”ﬂ g Q.51 Which of the following is an insectivorous

(A) Glycolysis THATSFTATE A plant? i ..
(B) Photosynthesis THT<T FETTT ﬁmﬁﬁﬁ | H FI HTOF BT2oeft oo
(C) Photolysis 2T AT A e? }
(D) Chemosynthesis FTHTTRETH (A) Pitcher Plant =2 7uff T2y

Q.47 Which part of the plant is called its food (B) Indian telegraph plant ST Tefame
factory? RIERE
e % Py W 7 I @rer ATl (C) 4 ‘O’ clock plant 4 ‘0" 9149
FET ATET 8?2 (D) Cuscuta 7
(A) Fruits el Q.52  The main function of the lacteals of
(B) Seeds #s7 intestine is the absorption of
(C) Leaves Ti=raT W%Wﬂmmﬁﬁmf
(D) Flowers 9 (A) Amino acids AHTHT 77T

Q.48 Green pigment present in the leaves is (B) Glucose and vitamins e TsT 417
called - faerfes
KERIR RIS CHARUR Ik FAR 1 4.(C) Lactic aeid #rf¥= nfirz
(A) haemoglobin ErTi=Tfa (D) Fatty acids and glycerol 2T Tfa= 17
(B) Globuin THTfa B - T
(C) Albumin TE=g R © Q.53 Bileis produced in

(D) Chlorophyll FATZITkT =1 =1 fAwior 2rar 2
Q.49 During photosynthesis plants & \ (A) Gall bladder fa=TerT Fit a7
THT HTOT I F S0 1\ (B) Blood &

(A) take oxygen and release a

% (C) Liver T
dioxide ATFHTST =1 Eﬂ'{"ﬂﬂ‘sh : (D) Spleen fa==ft
STESATSS WIS § . emian \ Q54  Which is not digested by human?
(B) take carbon dioxide and re ease, AT 3T u=T 727 7T 2
oxygen FTHH ITTAFATZS ﬁﬁr ai’l't (A) Protein ST
mﬁwmﬁ& \ pi (B) Fats a4
It ‘_ not release carbon ( T
C) Glucose 97
d -~ -
g;o;.de Mﬂ;w W;% FfHT (D) Cellulose F=wrt
SUERIELE : 1 lgél_'ﬁ\ Q.55 How many premolars teeth found in
(D) None of these’ Z7% & #r$ 7 mouth? %8 & fraw srrsrers afaTe sy
Q.50 Which one of the following is a pair of %3 i

symbiotic organisms? ( ﬂ;) 2 (8)

_ B) 4
?ﬁ%ﬁﬂﬁﬂ?ﬁ%ﬁﬁﬁﬁﬁwm (C)6 (D) 8

5 _ Q.56 Turmeric is a natural indicator. On adding
(A) LIC'hen? AT HA its paste to acid and base separately,
(B) Rh_uzoblum and legume TTE T o which colours would be observed.
e | goal UF AThfaH T 2. g8 162 Fil
(C) None of these T# & F1$ 7 YA AT AT H -3 T I7 ey
(D)Bothaandb a 37 b =¥ g o faare 3
JGM GURUKULAM GTSE 071/A

-

- B




Q.57

Q.58

Q.59

Q.60

(A) Yellow in both acid and base A% 31T (C) Curd, milk of magnesia Z&Y, #fifor

IR L I LAl T gH
(B) Yellow in acid and red in base ¥ H (D) Curd, vinegar Z&t, fara
a7 S T B AT Q.61 Products of a neutralization reaction are
(C) Pink in acid and yellow in base always: A
e 3 Tl ST T § i FRTHAHC ST % 2 e
(D) Red in acid and blue in base SI¥1 T Gt

S s 1 e (A) An acid and a base T (¥ %7 7,
Phenolphalein is a synthetic indicator and RS
its colours in acidic and basic solutions, (B) an acid and a salt UF ¥ AT
respectively are: TRATEIAT UF WL F1 (C) A salt and water T A 37 7T
T 2 A7 g AT AL AL AT AATE (D) A salt and abase U ST 3ff7 T 4T
(A) red and blue =T+ ¥ Hi=T Q.62 Bisexual flowers are those flowers which
(B) blue and red AT 3T AT have both
(C) Pink and colourless THATAT 31T EIEIE] Tﬂ—uﬁtﬁ w a"ﬁ?‘l"sﬁ?f & for arar 2rd
(D) colourless and pink T A7 t[TI‘cﬁ g

Which of the following is an acid base '(A} Pollen grains and srtamens T7T3T F17

indicator? | aﬂ'{‘ﬁ‘?ﬂ‘(
faefatas & & #i9 30 a7 995 82 :
(A) Vinegar 7T
(B) Lime waterT'ﬁTg' T H /
(C) Turmeric &=at . W (D) pistils and ovary BTFAT HT AZTH
(D) Banking soda HT2T HTST N %-.-7Q.63 The male reproductive part is:
When the soil is too basic, Plants do ot 4 g L ST AT 2
well in it. To improve its quallw _,_ﬁhat must (A) pistil a7
be added to the soil> ' (B) stamen THHY
ﬁﬁﬁ@aaﬁ?mﬁ?ﬁ@ﬁm (C) ovary =TT
i e 7 P T T W £l 3T (D) flower B
AT § q41 T g ﬁ?ﬁwm Q.64 Female rep‘roductive part is
TR & &7 TS AT
(A) Organic matter FTd A% 7214 (A) Stamen T-FHT
(B) Quick lime f3T F=AT g1 AT (B) pollen grain TZHTHTT
(C) Slaked lime FTT¥Za FAT () biid e
(D) Calamine solution FATATEA =& (D) pistil ZFaT
Which of the following set of substance Q.65 A small bulb like projection, which comes
contain 3Ciff_5‘_\ ; out of yeast all is called:
quﬁmm%mﬁm @mmwwﬁ,ﬂaﬁ?ﬁ
(A) Grapes, lime water 3?‘1'(‘, =ﬁ1m'rﬁ (A) Bud HEAT
(B) Vinegar, soap fH7#T, &1 (B) spores &SI

(C) Zygote TTHTST

JGM GURUKULAM GTSE 071/A




(D) Flower &1 ATAHAR THF TTIT T F7 T 3.
Q66  Splitting up of filaments of algae in two Or (A) stem AT
B) leaves Tf¥raf

more than two parts is called: (

et 5 et T A1 A0 A A AR T :

GRS (C) Roots 2T
(

gz ST W% D) Flower et

(A}Fertillssatiohﬁw Social study

(8) Fragmentation b Q.71  Which one of the following is a basic life

(C) Pollination FITH support system?.

(D) Reproduction WS Freferfaa o & wva ar vF 3738 fram
Q.67 In sexual reproduction, a male and a s T 47 '

:g:ig:::iuz;;ﬁg:m 2 8 (A) Mujsic system mﬁ?‘ﬂ"ﬁl

s (B) Environment TH 1707

= (C) Transportation T @27

(A) F!ow?r ) (D) None of these Z-#H T2 A3

A5) R R Q.72 What do plant and animal kingdom make

(€) Spore T together?

(D) Zygote FTHST AR M g ST e A T 22

Q.68 When you add yeast to dough, it rises (A) Biosphere S

be - e ™ -
?';E::;em = s | (B)Hydrosphere STTH=w
: T o Ilg‘ﬁ[ .| (C)Atmoshphere A=
(A) yeast cell reproduce by b dd i YOG =e ®
STC
Y pracu Y e o Q.73 When is the World Environment Day
#ez 5'%”[ =1 ”E'_.u[“l_a" QT{T 5{5‘ I;l celebrated every year?
FA] s a9 faeg giaver a9 7 /407
(B) budding yeast ce!ls forrn E SATAT 82
TAﬁC-J;'rFI'I : adl W —r --- (A) 25" December 25 fawa?
(C) The rapidly repro ucmg yeas £5 olls (B) 23 June 23 5
carbon dioxide due to respi n. ©) 26t ) 26 T
anuary
T?Wﬁwﬁﬁzﬁ%ﬁﬁw () 5" june 5
e E Q.74 Where is the deepest mine in the world
(D) of the bulk of the new yeast cells, located?
ocated?
5 erf of the male and t , g
he (A) South America ferr stHfAT

female gametes is called:

(B) South Africa ZferoT T

A7 A7 HIAT II0F & Haq9 Fit gfgr
FATAT 2 (€) South India FFET AT
(A) Fertilisation fAT=7 (D) South Australia Zf&ror HrecteraT
(B) Pollination TZ1TA Q.75 The upper most layer of the earth’s
- urface is called
(C) Reprodfuction T5HH S :
qvd FEATAT &
(D) Seed formation =57 fayTor Wﬁmﬁmw
Q.70  Bryophyllum can reproduce by its: (A) The crust #¥
JGM GURUKULAM GTSE 071/A
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Q.76

Q.77

Q.78

Q.79

Q.80

Q.81

(B) The brust s7=

(C) The roads  7T=+

(D) The forest STTeY

Rocks which contains fossils are called
(A) metamorphic rocks & szt o
SFrarem 2 3, Femd 8

(B) igneous rocks ST TearT

(C) core F17

(D) sedimentary rocks HAHTT FZTH

Which rock is the molten magma made up
of?

e 2= fvwy e T2 & 3w 22
(A) Lgneous &9

(B) Metamorphic =qigfiT

(C) Sedimentary saHT4T

(D) None of these Z9H & T2 Tﬁ

What is the name of the instrument used
for measuring earthquake?

T WU 6 (o SR IThoT %7 A7
T 22

(A) Thermometer FHTHIZT

Q.82

(C) Weighing machine AT
(D) All of these zd 5

On which scale is the earthqu_ak_e-
meadured? '

ST AT F ST v A e 89/
(A) Plane scale §HaA d9maT
(B) Richter scale ﬁﬂ%‘(_‘?(mﬁ

(C) Compass fZom WW

(D) Divider fZaTzE7

In which continent is the highest waterfall
‘Angel Falls of Venezuela’ located?
oeT AT B fora 2

(A) South America afaror srafisT

(B) South Africa Zfarr s

(C) South India Zf&rmT 97 g

(D) North india 39Z |TId

The triangular collection of sediments at
the mouth of a river forms.

Q.85

Q.86

e
i, -vil'
B i

]

igr. = d

Q.83

(A) Beach #i{# d<

(B) delta AT

(C) Arches ST79TS

(D) Glaciers Te1foraet

Which of the following is an example of a
glacier.

fAafafaa o o F a7 wifoms #71 321277
2
(A) Gangotri T[Tt
(B) Aravali FTTaHT

(C) Both of these =z ZTAT

B):none of these ZAH | FE 5T
‘Which gas released in the atmosphere a

eenhou'sfg-effect trapping the heat?

(A)Carbon dioxide FTa ETEAFATZ=
(B) Oxygen =<t

' (C) Nitrogen AT=2rst

(D) All of these 29 #/&
Which one of the following gases is

Present in the atmosphere in the highest
amount

Rt & & #1  fra arpieer i
qIH A2F 7TAT | Wi 22

(A) Oxygen wt=ftsie

(B) carbon dioxide FTa+ STEHFITZS
(C) Nitrogen ATZ TS

(D) Lithium

Who drafted the indian constitution?
WAt a1 /et ey dae
e

(A) pandit jhwahar lal Nehru Tf=d STaTEy
AT AEE
(B) Mahatma Gandhi HgTeHT TTieft
(C) Lal Bhadur Shastri T d&137 THET
(D) Dr. B.R. Ambedkar =T. &1 A%, F==H7
What is the full form of MLA?
THUST &7 F HIH T 22

JGM GURUKULAM GTSE 071/A
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(A) Member of law Authority T ———

T ATTRHOT o AT a, ab,abg, ........
(B};Member of Legislative Assembly (A) aabc (B) abcd
Ay 997 F T2 (C) bed (D) abede
(C) Minister of Low Abiding Authority Q93 solvethe3X2+4-4+ 2=
G GARIEER DL AR AHIFTT FT ZA FT 3K 244 -4+ 2 =
(D) None of these Z7# & FIE A&l (A) 3 (B) 8
Q.87 Cartographer is a person who makes: (C)3 (D)0
Wwwﬁgﬁmﬁ If + means X, X means =, and = means +
A) Cartoonﬂ:ﬂ‘.{? ' (21_\’,_‘\;{-_, then15X3 = 1545-2=7

—— R+ FTATXE, XFT AT =2, A7« F7

(B)Caricaturesmﬁ? 3{«5’+?{HT15X3715+5*2=?
(C) Maps RTA == (A)0 (B) 10
(D) None of these 7 & FIE Agl (C) 20 (D) 6
Q.88 What is the literal meaning of hiranya- Q.95 If light is called morr?ing, n?ornilng is called
«dark;dark is called night, night is called
SFLSED (. (sunshine;and sunshine is called dusk,
fETra-ms v enfeza ored | %? "'--.-"...then when do we sleep?
(A) Rashtrakutas TTgFHe gl yHTI A HeAE LT AAT 2, AT AT
(B) Dantidurga Zfeaast B\faTTElT@'EﬂTﬁT 2, AU FT ITd F2T ATAT 5,
(C) Golden womb |T= T T+ Ty Waﬁ'&mqﬁrmﬁ ﬁﬂz"ﬂﬂm
(D) Golden deerﬁl‘“’f‘i‘T 4 El%TH‘I:T%'FﬁgFWW?? o
Q.89 Whatis Vetti? \ ’ gg’ g:]gskt () Sunigﬁark
b T #4182 3 Q.96  Which of the following words will come
f (A) Rent o fourth in the English dictionary?
(B) Tax F7 Fafofem & & 17 a7 o=z @35 gezwy
(C) Revenue 314 - ﬁ&?:’ré}lm U m?(B) e
h\ ¥, alse ollow
(D) None of these ﬁﬁ%ﬁ%’“ﬁ 8 (C) Faithfully (D) Fool
Q30  Rathor Ramu!;_wa_s related to__ 4 Q.97 if X stands for addition, - stands for
3 R o i
T2 aeqd WF@I I subtraction, + stands for multipliacation,
(A) Marwar m{@’% and — stands for division.
I (B) Mewar 7T AT X T I S &, + A 7k 72T 8, +
| (€) Amber AT / e T B, 30T - 7 S Ay 21 A4
, 20X8+8-4+42 =
(D) Ranthambnre TR (A) 25 (B) 80
MENTAL ABILITY (€) 5 (D) 24
Q51  Find the following series find the number Q.98 Find the missing no. in given series
in place of question mark. &t TE e § | HEAT AT FL
fafertas gaar am f1fvm w1 R % 14,998
T 97 /g7 719 fifn (A)25 (B)21(C)20 (D) 24
15, 22, 29, 36, ? ,50, 57 Q.99 fillin the blanks: f7=F =17 7
(A) 43 (B) 42 a, ab,abc, .........
(C) 40 (D) 44 (A) aabc (B) abcd
Q.92 fill in the blanks: (C) bed (D) abcde
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‘ Q.100 Find the missing number in given series.
&t ¢ e ® 7 s i)
2,6,12,20,7,42,56

(A) 25 (8) 30
(C) 28 (D) 32




